Placement Test 2 (Elementary Level)

Please complete and email to korean@soas.ac.uk to request a short assessment with a Language Specialist.

Name:
Email:
Contact Number:

A. Choose the most appropriate particle/marker from <27|> and fill in the blanks below. You
can use each particle only once. (1 point each. 4 points in total)

<27]> 2ot 2BH 7 oM oA Oftt oLt S o = Tt

1. OfN| Ot M| ‘He ThE|7F AASLICE LE2|= 0t M 2

o
l’l
i
>

b FASLICE

2. 7b B|7} O HIMS?
L Atz ECJFO HIMNS.

3. 7k O] A2 =707
Lt: X[l M 0[0 2.

4. 7h HU|E E0IEL?

=S

Lt: ®l. M= ok Fu|E et T OM Q.

B. Choose the most appropriate word in the blanks below. (1 point each. 19 points in total)

5. A= £ 23 ZLIct.
1) HX| 2) HA 3) 2H 4) IRt
6. 7k &7t MO[UA =pA?

L} Ot Q. AME Zojlgk AU L.
1) =9t 2) K| 3) 20| 4) =
7. 7k O = EQ0]| 2HE7L?

Lt EQY LR . EQAN= 7t 20| ANML.
1) OJLt 2) 3t 3) ot 4) 21
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8. 22t M= ZYsis shgQILICt,

1) C= 2) ¥5t= 3) dSst= 4) 2lAfst=
9. 7L HR M= A0 AS W E 3l?

Lt: M= At S1t NS ZEOfiM 2SS A= Tt
1) o22l= 2) #&st= 3) R¥st= 4) D|R:=

10. 7}: 3|AHI0|0| L7

L}: O 2.
11. 7} HEX|Pt & 71 Z+otQ.

(=3
Lk 3 B0 20 22 S22, O of BAIL.

1) @e 2) sf2ist 3) 2 4y2t 7l
12,7k 97| W MY HE22 E A 27127

Lk 971 W7t 22 N 7t 22
1) Zofstn 2) Zotste 3) ZO5HLI7} 4) Zostein
13. 7k LY & ente?

L w2 HIIZ 0P,
1) =ofi 2) Bx|gt 3)zoain 4) e o
14.£8 OFZHIO|ES 5t 0.

1) XD 2)2oz{n 3) E0[=1 4)

0=
ik
_O'I_l
m
o

15. 71 HF=0f 7f X017
Lt: O[OF7|E B0l 7RO,

1) S0A 2) S3UeH 3) 2Lt 4) SUX|2E
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16.

17.

18.

19.

21.

22.

23.
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& dsS & M HE m2eL.
= LHE UM EMQ.

[=] T IT

2) A=t 3) X7 | Hof

7F: 07| =S e =7
L}: OfL|R. 047 [0f| M=

et

T oL 2)st7] #/UL

7k ®7E X[k =0
Lt: Ul 20| ZHAICE.

2 S M2t5) 20|27

O[Okt 2) Olo7|et 3) OloF7|5t=

7k RHUidstz MRS "’"9'.3_4 oF ElL7t?
Lt dl, et Lt &

A FML 2)H FHL 3) 201 FHQ
FHO= Y2 X210 EAHE & HOR. 27 |=
HE{0F SR 2)otH ot eliQ 3) EHin z7e

X{3| OHIIE = 204

—_—— O

OftES| L. J={L7t

1) SHS AMAHA X 2) U= A0 FXISHK|  3) HEIE DX

17 ofc] QlofR?
< ) A2 otol

2) Q0| B 3) QUofoF aiQ

7k A M 2 goj2? uf2

M X M FIHE2 0|0 R.

Lt: 20| Q7 Ob7 w &l0]| 22k 2{ofl 20| & A

2) 0] AAU02 3) sA0

OrMI2.

4) Xh= S
4)st= A 2o

4) olop7|5t

4) Hel AR

4) ol MEHZ|E AHZSEX]

4) A7|2 3HoiQ

4) 50 AR



C. Please answer the following questions in Korean. (2 points each. 10 points in total)

24. 7152 7HEts| 2713 BAIR.

25. 182 Ot X0[0l|e?

26.7|=20| et £ | 087 37

27. SZ0IM 5 et El= A F7t A0 L7

28. B0 oA HZ S X7 |IML?

Final Mark: out of 33 points

Please complete and email to korean@soas.ac.uk to request a short assessment with a Language Specialist.
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